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CIELABN2 standard lightness I*

* Yoc=Yw  nc=100,

* CiELABN2 =109 (Y/Y) Y25-9 (¥;=100,¥,,/100<Y<=Y,)
*N(3,6)=20,1* ,(18)=46,I* y(90)=96

1* =95,52,y=2,5, 14=1/2,5=0,40
* 16=46,18 108,42 D,=-8,42
I*3,6=20,19 [4=46,18 Y718

CIELABN2
tristimulus value difference
Yoe=Yw - nc=100,

I* cieLABN2 =109 (Y/Y,)Y25-9  (Y,=100, Y, /100<Y<=Y, )
log(dY) = (1/2,5) log[2,5¢,/108)] + [1~(1/2,5)] log{)

A

I* =46, dY,=4,57, dY,/Y,=0,2543 _ =
log(dY)=4,57, m,=0,60 ~ A
S

i 1
dYe=12,02y=",0, 1§=1/2,5=0,40
dY;5=4,57 %=108,42 D,=—8,421 application
dY; 61,73 Y,=100 d¥;=4,57 1 range

ly,=18

Yn=3,6 ¥ Yy=90

log (AY/Y) CIELABN2
S=(AYIY) tristimulus value sensitivity

Yoc=Yw nc=100
I CiELABN2 =109 (Y/Yp)25-9 (Y;=100,Y,/100<Y<=Y, o)
log(@dY/Y)= log[2,5(V,/108)] - (1/2,5) log{/Y,)
= (1/2,5) log[2,5¢,/108)] - (1/2,5) log{)

log(dY/Y)=—0,59 m,= o\ai\\ S

==& application
I* =46, dY,=4,57, dY, /Y 02543 1

<2 range
ang

1
(dY/Yy=0,1336y=2,5, 14=1/2,8=0,40
(dY/Y)=0,2543 §=108,42 D,=+8,42
(dY/Y} =0,4830 Y,=100 dY;=4,67
1y =18
Yn=3.6 1 Yw=90

CIELABN2
tristimulus value contrast
Cr=(viay) Yo=Yy grne=100
I CiELABN2 =109 (Y/Yp)25-9  (Y;=100, Y,/ 100<Y<=Y, o)
log(Y/dY)= - log[2,5(,,/108)] + (1/2,5) log{/Y,,)
- (1/2,5) log[2,5(,,/108)] + (1/2,5) logY)

I* =46, dY,=4,57, Y /dY,=3

(Y/dY)7,48,y=2,5, 14=1/2,5=0,
(Y/dr)g=3,93 §=108,42 D=—-814. application
(Y/dY} 6=2,06 Y,=100 dY;=4,57 range
y,=18
Ya=3,6  Y\y=90

TUB-test chart BEZ2; CIELABn2* &

CIELABN2 relative standard lightnessI*/I* ,
I Yoc=Yw - nc=100,

I CiELABn2 =109 (Y/Y)/25-9  (¥;=100,Y,/100<Y<=Y,0)
1 y(3,6)=20 1* ,(18)=46 I ,(90)=96

I* gofl* =2,06,y=2,5, 1=1/2,5=0,40
* 1g/l* =1,00 §=108,42 D,=—8,42
I* 3 ol¥=0,43,1,46,18 =18

log[i*/I* ]=0, m,=0,47

log(AY/AY,) CIELABN2 relative
tristimulus value difference
NNy Yoc=Yw - nc=100,

I CiELABn2 =109 (Y/Y)25-9  (¥;=100,Y,/100<Y<=Y,0)
log(dY/dY,) = [1-(1/2,5)] log¥/Y,,)

dYe/dY,=2,62,y=2,5, 1{=1/2,5=0,40
dY1¢/dY,=1,00 §=108,42 D;=-8,42
dYz ¢dY,=0,37, Y,=100 d¥=4,57

log [(AY/Y) 1 AYIY),] CIELABN2 relative
tistimulus value sensitivity

SIS =(AYM)I(AYIY), Yoc=Yw =100

nc
I ClELABn2 =109 (Y/Y)25-9  (¥;=100,Y,/100<Y<=Y,0)
logl(dYMN)/(AY/Y),] = - (1/2,5) logl/Y,)

(dYAA/(dY/Y)=0,52,y=2,5, 1§=1/2,5=0,40

(dY/N)g\@VIY)=1,00 §=108,42 D=—8,42

(@YYl g(d¥1, 189 ¥,=100 d= 4, ST ocation
=< ange

1Y,=18
YR=3.67 Ya=90 T

I* =46, dY,=4,57, dY,/Y,=0,2543

log [(Y/AY) 1 (YIAY), )] CIELABN2 relative
tistimulus value contrast

ColCy = (YY), v 2y 2 2160

I CIELABn2 =109 (Y/Y)25-9  (Y;=100,Y,/100<Y<=Y,0)
log[(Y/dY)/(Y/dY),] = (1/2,5) logiY/Y,,)

(Y/dY)o/(Y/dY)=1,90,y=2,5, 14=1/2,5=0,40

(Y/dY)g/(Y/dY)=1,00 §=108,42 D=—8,42

(Y/dY}g(Y/dY)=0,52 Y,=100 d¥=4,57
=%

application
range

VNE3601 Y =90 T,

CIELABN2 standard lightness L*

L* Yoc=L*w - nc=100

L* cieLagn2 =109 (YY) Y25-9  (¥,,=100, Y,/100<Y<=Y,)
L*N(3,6)=20,L* (18)=46,L* (90)=96

L*9g=95,52,y=2,5, 1/=1/2,5=0,40
L*15=46,18 S=108,42 D
L*36=20,19,(%=46,18 \,=18

BEZ21-1A

logAY) CIELABN2
AY tristimulus value difference
Yoc=L*w - nc=100,

L* cieLagn2 =109 (YY) Y25-9  (Y,,=100, Y,/100<Y<=Y,)
log(dY) = (1/2,5) log[2,5¢,/108)] + [1~(1/2,5)] log{)

¥
* =46, dY,;=4,57 dY,/Y,=0, 2543
log(dY)=4,57, m,=0,60

P
’

dYe0=12,02y=",0, 1§=1/2,5=0,40
dY,6=4,57, 4=108,42 D,=-8,42!
d¥s=1,73 Y,=100 dY=4,57 !
ly,=18
Yn=3,6 1 Ygy=90

application
range

BEZ21-3A

log AY/Y) CIELABN2
_ tristimulus value sensitivity
S=(@AYH) YomL*w =100
L* CiELABn2 =109 (Y/Y)25-9  (¥,=100, Y, /100<Y<=Y,0)
log(dY/Y)= log[2,5(Y,/108)] - (1/2,5) log{/Y,)
= (1/2,5) log[2,5¢,/108)] - (1/2,5) log{)

aa application
* =46, dY,;=4,57, dY,/Y,=0,2543 I :»Ea}nge
(dY/Yy=0,1336,y=2,5, 11,—1/2,5-0,40
(dY/Y)=0,2543 §,=108,42 D,=+8,42
(dY/Y} 6=0,4830 Y,=10Q d¥=4,67
y,=18
MN=3.60 0 Y =90 T

BEZ21-5A

log (Y/AY) CIELABN2

tristimulus value contrast
C,=(Y/AY) YorL ~100

nc’
L* CiELABn2 =109 (Y/Y)25-9  (¥,=100, ¥, /100<Y<=Y,o)
log(Y/dY)= - log[2,5(r,,/108)] + (1/2,5) log{/Y,)
~ (1/2,5) log[2,5(,,/108)] + (1/2,5) log{)

L* =46, dY,=4,57, Y,/dY,=3

(Y/dY)y=7,48,y=2,5, 14=1/2,5=0,40
(Y/dY)g=3,93 §,=108,42 D, application
(VIdY} 62,06 ¥y=100 d¥=4,57 range
1Y,=18
Ya=3,6  Y\y=90

BEZ21-7A

BEZ21-7N

L* for Y/Y, with additional dataYn=(Y&L*)w

Absolute and relative lightness, sensitivity and cont&st108,42, 1y=1/2,5=0,40
M Y

CIELABN2 relative standard lightnessL*/L*
LHIL* Yoc=L*w - nc=100,

L* ciELABn2 =109 (Y/Y) 259 (¥;=100,Y,/100<Y<=Y,0)
L* y(3,6)=20,L* ,(18)=46L* y(90)=96

L*gg/L*=2,06,y=2,5, 1§=1/2,5=0,40
L*1¢/L* =1,0Q $=108,42 D,=-8,42
L*3¢L*,=0,43,L%,=46,18 Y=18

log[L*/L* ,]=0, m,=0,47

BEZ21-2A

log(AY/AY,) CIELABN2 relative

tristimulus value difference
INUNG YorL* vy - n=100,
L* CiELABn2 =109 (YY) 259 (¥;=100,Y,/100<Y<=Y,0)
log(dY/dY,) = [1~(1/2,5)] loglf/Y,)

dYoo/dY,=2,62,y=2,5, 1§=1/2,5=0,40
dY;¢/dY,=1,00 §=108,42 D,=-8,42
dYz ¢dY,=0,37, Y,=100 d¥=4,57

57, dY,/Y,=0, 2543

BEZ21-4A
log [(AY/Y) | (AYIY),] CIELABN2 relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100

nc’
L* cieLaBn2 =109 (Y/Y) 259 (Y;=100,Y,/100<Y<=Y,0)
logl(dY)I(AY/Y),] = - (1/2,5) loglIY,)

(dY/Ypo/(dY/Y)=0,52,y=2,5, 1§=1/2,5=0,40

(dY/Y)g/(dY/Y)=1,00'S=108 42 D,=-8,42

(@Y1 (dY/Y, =789 ¥:=100 dY=4,57- % = = =
ange

log[(dY/YY(dY/Y)]=0, m,= =
L* =46, dY,=4,57 dY,/Y,=0,2543 }
1v,=18
Yn=3.6  Yw=90

<
1
1

BEZ21-6A
log [(Y/AY) I (YIAY),] CIELABR2 relative
tistimulus value contrast

CrlCoy =(YIBVI(YIAY), 2%,

nC
L* CiELABn2 =109 (Y/Yp)25-9  (Y;=100,Y,/100<Y<=Y,0)
logl(Y/dY)/(Y/dY),] = (1/2,5) logiY/Y,,)

(Y/dYbOI(Y/dY), L 90 rz 5, 1§=1/2,5=0,40
(YA ) g/(YIdY)= 08,42 D,=-8,42
(YIdYY J(YIdY o 52 Yn 100, dy=4,57

Iog[(Y/de YIAY)J=0, m=0,40

* =46, dY,;=4,57 Y,/dY,
- 1 application

1 range

1y =18

NNE3601 Ya =90 T

BEZ21-8A
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